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MATYFERATTETER (FiR: MA75 — 2B5RIMN) Iy — k&
mETRAT LTRETE X7,
@RI BAZN> (L) = 3.400[{m
FyFIEABORSTRE (Lx) = 7.000|m
FyFEFHEORTTRS (Ly) = 6.800|m
@Fv+IL—bh B MA75-1.2
RE (t) 1.2|mm
FyvFIL—hDEEN (H) = 75|mm
Tyt EHERE (F) = 235[N/mm?
FyrBE (Wsd) = 14.10|kg/m?
WRE 2R E— X b (sI) = 167.80[x10*mm*
HTERER (s2) = 44.16|x10°mm?
SAMADY > T1RER (Es) = 2.05|x10°N/mm?
Q&R I — NEHESRRE (Fc) = 21|N/mm? IO~
EoSTmZOL= L VAN = =213 ) = 24|(KN/m>)
W k3> - NEE (S) = 80|mm
RASTEHE (Ws) = 2,954 [N/m? (TyFBE+#HIVEE)
FT5I> 90— NES (S0) = 20|mm (RBEI>HU— MTE
BFT51> 90— NaE (Wcs) = 480|N/m? (=S0*y(N/nf))
WE2RE—A> b (cIn) =| 18,181|x10°mm*
a9 — NRBTERER (cZc) = 3,218{x10°mm?3
Ty FRMTEIRER (czt) = 123.0|x10%*mm?
B THR RS (cze) = 3,854 (x10°mm?3
TEDIHERFEL (k) = 1.5
YRt (n) = 15
@B RE(LEA RS (ar) = | 282.70|mm¥m ©6-100X100
ORLOEEHR EfTEZAYR : @19:L-110
R (d) = 19|mm L-110
Q5= (Ds) = 300(mm
RESARTHRE (kq) = 1.00
@RI A BF R : 2 PR2B%5FE
mEETREOE,
OFHHE LIFHE wee  =[__1,000|N/m?
Q(RHMELIF+HELIY) HE wo = 1,480 N/m? (=Wce+Wcs)
QEIERE wdl = 4,434 N/m? (=Ws+W0)
@HE T BEREIE Wc = 1,470 N/m?
GE#EIE wil = 5,000|{N/m?
GHhERREE Wgq = 3,000|N/m?
5T TEDHETE
1) TyFhE TR OMRTE (FEHA) wwW = 4,904 N/m? (=Ws+Wcs+Wc)
Brval:v oy=1/8-wW-L%/sZ = 160 N/mm? =F= 235 N/mm? OK
TEOHRE (BT csdy=1/145-wW-L*/(Es-sI) = 13.14 mm = 1*10%/180 = 18.9 mm and 20mm  OK
I) HEHEORTE (RHA) W = 9,434 N/m? (=Wdl+WiII)
SEHRE (FYFIL-R)  soy=1/8-LW-L%¥/cZt = 110.8 N/mm? <F/1.5= 157 N/mm? OK
SSHRE (A>9I coy=1/8-LW-L?/cZc = 4.24 N/mm? = Fc/3 = 7.00 N/mm? OK
oW = 6,000 N/m? (=Wce+WI)
TEOHRTE dy=k*n*5/384-DW-L*/(Es-cIn) = 6.30 mm = L*10%/250 = 13.6 mm OK
) VUEINILABE LEOI&TE cW = 6,000 N/m? (=Wce+WII)
Brval:v 0c=1/12+-cW+L%/cZe = 1.50 N/mm? < 0.62/Fc = 2.84 N/mm? OK
SR BARTE pe=a,/(S+S,)/10 = 0.28 % z 0.20 % OK
R FSRAREIRTE [#E]  pe=(a,+apior200)/(S+H+S)/10 = 0.37 % z 0.20 % OK
V) REOESRERTE (JaHA) qW 7,434 KN/m? (=wdl+Wq)
-BEfIERIYROBE
WERE (sca) = 283.53 mm?
I>HY— M J 1588 (Ec) = 0.229 x10°N/mm?  (=21000-(y/23)*°-/(Fc/20))
J(Fc+Ec) = 694 N/mm? (500=/(Fc-Ec)=900)
CBATERSYROMS s = 98,389 N (=0.5-sca /(Fc-Ec))
- FIBRIRTE ds=qs/S/(Fc/10) = 586 mm 2z Ds = 300 mm OK
m BN ANASEREDRTE (2B5MIMmA) fw = 6,480 N/m? (=WO+WIN)
M GREREIRTE fWa=132,000/L%-2,990 fWa = 8,429 N/m? zfwW = 6,480 N/m? OK
FYFRIARTE La = 3,400 mm 2L= 3,400 mm OK
W BTSN NEXARTE Sa = 80 mm =S= 80 mm OK
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